2

LEILAO
ONLINE.NET

Descrigdao Detalhada

9

JORDAO

LEILOES

Céd. Material Descricao Material Unidade Estoque
6008874 | PARAFUSO CIL ALL GR5 1.3/8X4" COSTA PINTO 30
6009933 PARAFUSO SXT GR8 9/16X2" UNF COSTA PINTO 86
6021652 | PARAFUSO SXT CL8.8 18X130MM MB COSTA PINTO 65
6009020 | PARAFUSO CIL ALL GRB8 16X25MM COSTA PINTO 36
6009622 | PARAFUSO LAM ACP1020 1/2X2.1/4 BSW COSTA PINTO 15
6009630 | PARAFUSO LAM ACP1020 7/16X1.1/4 COSTA PINTO 91
6009089 | PARAFUSO S/C SXT INT AI304 12X40MM COSTA PINTO 11
6009628 | PARAFUSO LAM ACP1020 5/8X1.3/4 COSTA PINTO 11
6001414 | ARRUELA ISOL MP 2000113000 COSTA PINTO 9
6009414 | PARAFUSO CH FEN A1020 3/8X5/8" COSTA PINTO 50
6030364 | PORCA SXT CL8.8 14MM MA COSTA PINTO 24
6010172 | PARAFUSO SXT GR2 3/8X2.1/2" UNF COSTA PINTO 5
6009147 | PARAFUSO AUTOM PART COSTA PINTO 23
6006457 | FITA ROTULADORA PR 9,5MMX5M COSTA PINTO 41
6004062 | CARTUCHO IMPRESSORA HP Q5942A COSTA PINTO 1
6005568 | DISQUETE MF2HD ALTA DENS 1.44MB 3.1/2" COSTA PINTO 96
6034225 BUCHA Al304 50,8X28,5MM 500MM COSTA PINTO 1
6003086 | BUCHA BZTM23 146X120,6MM 500MM COSTA PINTO 0,5
6002403 BARRA SXT LT C36000 LAM 5/16" COSTA PINTO 9
6015771 | LACO 1P 1" 6X41 FB 22000MM S/AN COSTA PINTO 4
6003326 | ZZCABO ACO ESTAI 3/8" PADRAO CPFL COSTA PINTO 142
8021275 | FLANGE MOTOCANA 53644 COSTA PINTO 1
4090082 | ANEL APOIO MAUSA 100399 COSTA PINTO 9
4020465 | TELA PERF A304 ESPO,50MM DN 4400X1250MM COSTA PINTO 1
4043283 | ZZPERFIL BORR MAUSA 9148/78 - 1023910 COSTA PINTO 0,8
4019641 | SUPORTE MAUSA 115165 COSTA PINTO 2
6004987 | CONTRAPINO A1008 COB 3/32X1.1/4" COSTA PINTO 49
4052729 | REVESTIMENTO ENVIROTECH LE060591 COSTA PINTO 2
4052728 | REVESTIMENTO ENVIROTECH LE050591 COSTA PINTO 1
4016357 | REVESTIMENTO KREBS 668R-RG-3 COSTA PINTO 2
4052740 | REVESTIMENTO ENVIROTECH LD180591 COSTA PINTO 2
4016360 | REVESTIMENTO KREBS 94-6R-RG COSTA PINTO 1
4024113 | ZZCAIXA LIG ELETROD AL LR 2" BSP COSTA PINTO 8
4022189 |LUVA CONALINT 2.1/2" BSP COSTA PINTO 13
4011932 | LUVA ELETROD PVC PR 2" BSP COSTA PINTO 2
4022192 |LUVARTALINT 1.1/2" BSP COSTA PINTO 3
4004952 | CAIXA LIG ELETROD AL E 1/2" BSP COSTA PINTO 2
4022138 | CONEXAO BULK TUBO 1/4" LATAO 1/4" COSTA PINTO 1
4006903 | CURVA ELETROD PVC 902 1" BSP COSTA PINTO 4
4006910 | CURVA 909 LG RPVC 3/4" BSP PT COSTA PINTO 1
6008214 | MASSA VEDACAO SELO FLEX 5L COSTA PINTO 1
8000007 | ABAFADOR CHAMA Al AlSI-304 90~120MM COSTA PINTO 5
8000005 | ABAFADOR CHAMA Al AlSI-304 55~90MM COSTA PINTO 2
4008065 | EMBOLO CIL MF 87089990 COSTA PINTO 1




2

LEILAO
ONLINE.NET

Descrigdao Detalhada

9 JORDAO

LEILOES

4016079 REPARO MOTOCANA 81780036 COSTA PINTO 1
8067919 | JUNTA VALV VWC TAF129483 COSTA PINTO 6
4092207 | CORREIA TRANS V LISA 5/5V 1000 COSTA PINTO 8
8015183 CORREIA FIAT ALLIS 73148503 COSTA PINTO 5
4006254 | CORREIA TRANS V LISA C 195 COSTA PINTO 6
4035569 | CORREIATRANS V LISAC79 COSTA PINTO 4
4006149 | CORREIA TRANS V LISA A 81 COSTA PINTO 7
4006073 CORREIA TRANS V DENTADA 5L 560 COSTA PINTO 3
4006177 | CORREIA TRANS V LISA B 26 COSTA PINTO 6
6005128 | CORRENTE ELO SOLD 13X39MM RUD 44713239 COSTA PINTO 51
4008074 EMENDA SP A1045 10A-1 ISO/ANSI 50-1 5/8" COSTA PINTO 11
4008124 EMENDA CORR RL ENGR SIMPL P1.1/4" COSTA PINTO 5
4111070 | ZZDISCO RUPT A316 6" 11,8BAR COSTA PINTO 5
4011601 LENTE VIDRO CIRC VD 120 X 12MM COSTA PINTO 26
4011600 |VIDRO VISOR CIR LAM 120X10MM COSTA PINTO 35
4009171 | ABRACADEIRA A1020 U PERFIL PARAF 4" COSTA PINTO 38
6002906 BUCHA PA S4+CB CH 3,5X30MM COSTA PINTO 200
6000627 | ANEL ELAST RET FR ACO 47MM DIN 472 COSTA PINTO 5
6000008 | ABRACADEIRA RSF A1020 14MM 121~140MM COSTA PINTO 1
6034063 CINTURAO SEG ABDOM ALGOD PR S/SUPENS 48 COSTA PINTO 93
6023821 PRANCHA DOBR POLIPROP 185CMX46CMX4CM COSTA PINTO 4
6003622 | CALCA SEG MAS PES AZ GG COSTA PINTO 4
6007346 LENTE FRONT DUROPOLIC TON6 WELD STEEL COSTA PINTO 30
6040957 PROTETOR FAC KIT PROT RT PLASTICO VD ACP COSTA PINTO 1
6016108 | ARANHA METAL MSA 215680 COSTA PINTO 50
6002409 BARRACA SANIT AZ ACO GALV ALPARAGATAS COSTA PINTO 2
6017970 | CINTURAO SEG ABDOMINAL COURO CALIBRADO COSTA PINTO

6015697 | VISOR MASCARA JAT 203,2X432X1MM MSA COSTA PINTO

6016345 | TAMPA VALV MSA 10298134 COSTA PINTO 50
6017929 | CAMISA MASC HELANCA CORTE CANA "PP" COSTA PINTO 10
6016118 | ASSENTO FILTRO RESPIRATORIO COMFO | MSA COSTA PINTO 50
6014066 | SUPORTE FILTRO MSA 10298131 COSTA PINTO 50
4008412 ENGRENAGEM 72 COSTA PINTO 1
4008326 ENGRENAGEM FURO 20MM P 3/4" 725 COSTA PINTO 26
4014872 POLIAV FFC 4CN B 238,7MM COSTA PINTO 1
4008440 | ZZENGRENAGEM Z50D RT MD4 1:24 MAUSA COSTA PINTO 2
4013262 MOTO REDUTOR SEW RF37DZ80K4/BMG COSTA PINTO

6004064 | CARTUCHO IMPRESSORA PR HP 51626A COSTA PINTO 16
6004178 | CARTUCHO TONER PR MLS C7115A REMAN COSTA PINTO

4114979 | CESTO 6000068256 DEDINI COSTA PINTO

4110070 KIT GAXETA SEMCO 36011401585 COSTA PINTO

4109620 KIT GAXETA SEMCO 36011101500 COSTA PINTO 1,4
4109754 | GAXETA EMERSON 1R290801012 COSTA PINTO 2
6011934 PROTETOR TELA MONITOR 15 DIGITADOR COSTA PINTO 8
6023488 MODULO TRANSF CORR SS 3UF71021AA000 COSTA PINTO 2




LEILAO
72 v
ONLINE.NET S JORDAO
Descrigdao Detalhada
6040411 ANTENA BASE VHF 1/4 ONDA 1,5DBI COSTA PINTO 1
4062106 HELICE RESF AFC AFL2502000DWDI/7 COSTA PINTO 1
8036929 REGULADOR PRESS BOZZA 3032 GENUINO COSTA PINTO 4
8016832 DISTRIBUIDOR AR BOZZA 12084 GENUINO COSTA PINTO 1
4081536 EIXO MAZI 1006008 COSTA PINTO 1
4013317 MOVIMENTADOR DP MATISA 504 COSTA PINTO 1
4047766 ENCODER 1024 PULSOS EUTECTIC 710563 COSTA PINTO 2
6015086 TORNEIRA AR GUARANY 9432 COSTA PINTO 20
6002663 BOCAL TEROMATEC EUTECTIC 0702016 COSTA PINTO 2
6014057 SUPORTE BOCAL ESAB 0,000,159.044016 COSTA PINTO 1
6002474 BICO CORTE SB 519 2,4MM LG COSTA PINTO 20
4047760 SENSOR FIM CURSO EUTECTIC 711604 COSTA PINTO 2
4024326 ENGRENAGEM MOT EUTECTIC 700723 COSTA PINTO 2
4060668 EIXO EUTECTIC 700732 COSTA PINTO 4
6002565 Z7BICO EXTENSAO SOLDOX 201 N.2 COSTA PINTO 1
4018378 ZZROTOR BZE BBA MAUSA BC 4 COSTA PINTO 1
4001356 BICO ASPERSOR LATAO 1/4 B2 SD 3,1MM COSTA PINTO 30
4014433 PINO RUPT MAUSA 507692 COSTA PINTO 10
4040753 INTERRUPTOR BOSCH 9618086703 COSTA PINTO 1
4010716 INTERRUPTOR BOSCH 1607200086 COSTA PINTO 6
4004216 ZZCHAVE BATER EST 1.5/16" 195MM ACV COSTA PINTO 1
4013813 PASTILHA MD 80-C-N-M-KR 12-4-0,8MM COSTA PINTO 22
4015092 PORTA FER PSSNR2525M12 SANDVIK COSTA PINTO 1
4032715 PASTILHA MD K55-K-N-M-X 16-4-0,5MM COSTA PINTO 10
4079704 PORTA FER SDJCRL2525M11 SANDVIK COSTA PINTO 1
8018163 FILTRO COMB PARKER P230 COSTA PINTO 8
8020819 FILTRO HIDR KOMATSU 706351100 COSTA PINTO 2
8017923 ELEMENTO FILTR AR CAT 959972 GENUINO COSTA PINTO 2
8018235 ELEMENTO FILTR LUB FIAT 40593436 COSTA PINTO 3
8017980 ELEMENTO FILTR AR MANN C275021 COSTA PINTO 1
8020880 FILTRO OLEO HIDR FNH 81863799 COSTA PINTO 1
8020841 FILTRO MAGN CAT 3S3875 COSTA PINTO 4
8018096 ELEMENTO FILTR AR SEC CAT 612502 COSTA PINTO 2
8048375 FILTRO HDA FRTO120010/011834 COSTA PINTO 1
8020748 FILTRO DIREC 3319710M91 (011515HDA) COSTA PINTO 2
8018037 ELEMENTO FILTR AR PR MANN FILTER C18378 COSTA PINTO 1
8017973 ELEMENTO FILTR AR MANN C20187 COSTA PINTO 1
8022985 INDICADOR REST MANN FILTER 53900062926 COSTA PINTO 1
8067608 BUCHA YANMAR NS9023110 COSTA PINTO 1
8018166 ELEMENTO FILTR COMB MANN WK756 COSTA PINTO 1
8067612 VALVULA ADM YANMAR NS9011100 COSTA PINTO 1
8067610 VALVULA ESCAP YANMAR NS9011110 COSTA PINTO 1
8018233 ELEMENTO FILTR LUB MANN P824 COSTA PINTO 1
4049846 ELEMENTO KIT ATLAS 2901123000 COSTA PINTO 2
4003204 CABO SIN/INS CL2 PVC PT 1TX0,5MM? COSTA PINTO 128




LEILAO
72 v
ONLINE.NET S JORDAO
Descrigdao Detalhada

4061730 FONTE ALIM CONV VOLT 110/220VCA 16VCC COSTA PINTO 12
8025840 LENTE AUTOM AM-VM RT COSTA PINTO 16
8025841 LENTE AUTOM VM RD COSTA PINTO 12
8025837 LENTE AUTOM VM RD COSTA PINTO 6
6002180 BARRA RED FOFO FUND 50,8MM COSTA PINTO 1
6014693 ZZTERMOMETRO QUIM RT HG 0-50' DIV 0,1' COSTA PINTO 1
8049218 BRONZINA STD METAL LEVE 1BB201) COSTA PINTO 3
8000226 ABRACADEIRA AGRALE 7007013003007 COSTA PINTO 3
8091079 ANEL ELAS AGRALE 4008010016003 COSTA PINTO 4
8015177 CORREIA TRANS V CLARK 178682 COSTA PINTO 2
8007436 BOMBA D'AGUA CPL MWM 922987310036 COSTA PINTO 4
8025077 JUNTA JG YANMAR NS9001561 COSTA PINTO 2
8040813 ROTOR YANMAR NS5034520 COSTA PINTO 1
8008653 BUCHA YANMAR NS5061521 COSTA PINTO 1
9800366 ZOLEO LUB TRANSM VEICS SAE 80W 1LZ COSTA PINTO 4
9800189 ZOLEO LUB 80W90 1L GM 932311117 COSTA PINTO 1
9800233 OLEO LUB IND MINER ISO VG 46 200L COSTA PINTO 180
4044524 CHAVE FLUXO C/ROSCA EXT 1" MIPEL RFJ0713 COSTA PINTO 1
6004078 CARTUCHO JATO TINTA COL 11ML HP 51649N COSTA PINTO 23
6008696 PAPEL TERMICO FAX 216 MMX30M ALT DEFINIC COSTA PINTO 100
8034259 PNEU AGR DIAG 23.50 R25 16PR TL NOV COSTA PINTO 1
4019643 SUPORTE MOLAS APOIO CARGA FRIA 150KG COSTA PINTO 4
4019642 SUPORTE MOLAS APOIO CARGA FRIA 135KG COSTA PINTO 1
4018130 ROLETE C/ BORR CARGA 4X1170 C/ ENCAIXE COSTA PINTO 2
4018207 ROLETE R1710X545 CORPO 595 COSTA PINTO 3
8007085 BICO LUCAS CAV 6801027 COSTA PINTO 4
8007062 BICO INJ COMB LUCAS CAV VDLL150S6841 COSTA PINTO 2
8014813 COPO CBT 1B5301 COSTA PINTO 13
8047379 VARETA OLEO MB COSTA PINTO 4
4077654 CONTRA TELA A304 1300X720X3,43MM A46% COSTA PINTO 2
4005571 CONTRA-TELA TGB MC1316 COSTA PINTO 1
4002799 BUCHA VOLANTE TURBINA 55CE COSTA PINTO

6040905 ZZCALCA IND/AGRI REFL UNI ECOPOLICZ P COSTA PINTO 27
8099666 CHAVE JD AM131841 COSTA PINTO 1
6001679 ZZBALAO VIDRO FUNDO CHATO 500ML COSTA PINTO 6




